Window handle
OKOHHas pyyka

Pluton | |

- ,El
Lol I
o) —— - <
< _ S |
N i
© i
pts 4,8 i
(o)} ) -~ ©
8 - =
| ]
|
|
= = i
| ! \ | .
/ |
X\ 20
Plastic ZnAl
Mnactmacca
N RAL ﬁ \fa A R = RAL
Basic (X Standard (V) 3
[ SEREET
111.9016.35.45 | 112.9016.35.45) 9016 | 50/7kg | 50 3Bmm | M5x40 | x8 45°
111.9016.40.45 | 112.9016.40.45) 9016 | 50/7kg | 50 40mm | M5x45 | x8 45°
111.9016.45.45 | 112.9016.4545) 9016 | 50/7kg | 50 45mm | M5x45 | x845° 9016} / Grip part made of aluminium alloy
111.8019.35.45 | 112.8019.35.45) 8019 | 50/7kg | 50 35mm | Msx40 | x8 45° PykosiTka BbiNonHeHa n3 cnnasa MarHus
111.8019.40.45 | 112.8019.40.45) 8019 | 50/7kg | 50 40mm | M5x45 | x8 45°
111.8019.45.45 | 112.8019.45.45) 8019 | 50/7kg | 50 45mm | M5x45 | x8 45°
P I l I I O I I I I Window handle
OkoHHas py4ka
P N~
Lol I
o) —— - <
<
. S |
|
© i
ot 4,8 3
(o)} ) -~ ©
8 | T
| ]
|
|
,,f‘__\‘ /[:,, |
| | I 1
~ |
' X\ 20
Plastic ZnAl
Mnactmacca
N RAL ﬁ fa A Ry =1 RAL
Basic (X] Standard (Y) ¥
[ EIEIEE
121.9016.35.45 | 122.9016.35.45| 9016 | 50/7kg | 50 35mm | Msx40 | x8 45°
121.9016.40.45 | 122.9016.40.45| 9016 | 50/7kg | 50 40mm | M5x45 | x8 45°
121.9016.45.45 | 122.9016.45.45| 9016 | 50/7kg | 50 45mm | M5x45 | 8 45° 9016 / Grip part made of magnesium alloy.
121.8019.35.45 | 122.8019.35.45| 8019 | 50/7kg | 50 35mm | M5x40 | x8, 45° PykosTka BbinonHeHa 13 cniasa anyMuHns.
121.8019.40.45) 122.6019.40.45| 8019 | 50/7kg | 50 40mm | M5x45 | x8 45°
121.8019.45.45) 122.8019.45.45| 8019 | 50/7kg | 50 45mm | M5x45 | x8, 45°




P I l l to n Window handle with lock
OkKkoHHasa py4Ka C Kny4amu

~150

Plastic

Mnactmacca ZnAl

Wenus |
OkoHHast py4ka

59 28

¢ El - |
B D 7™
0 \
¥ — 1IL 3 (T
@ I
& g |
g 48 3 |
I
o
-
| -
/ |
I
Q |
I
T
'
194
+
e RAL i 7 A a® | = RAL
101.9016.35.45 9016 125/11 kg 125 35mm M5 x 40 X8, 45°
101.9016.40.45 9016 125/11 kg 125 40 mm M5 x 45 X8, 45°
101.9016.45.45| 9016 | 125/11kg| 125 45mm | M5x45 | x8, 45° 90161 Gri t d f Dlasti
r art made of plastic
101.8019.35.45 8019 125/ 11 kg 125 35mm M5 x 40 X8, 45° P l-|ng Bb||'|0ﬂHeHap|/|3 nnacTMacchl
101.8019.40.45 8019 125/ 11 kg 125 40 mm M5 x 45 X8, 45° y
101.8019.45.45 8019 125/ 11 kg 125 45mm M5 x 45 X8, 45°




We n u S I I Window handle
OxkoHHast pyyka

59 28

ar

] 7

© \

En
[
146

110

19.4

o : 1
e RAL 3 0 A =3 RAL
Grip part made of plastic
102.9016.35.90 9016 125/13 kg 125 35mm M5 x 40 x4, 90°
9016/ Pyuka BbinonHeHa n3 nnacrMaccsl
102.8019.35.90 8019 125/13 kg 125 35mm M5 x 40 x4, 90°

Window handle with lock
OKOHHas pyyka c Knodamm

148,5
66
—
N ;g ) )\ § g
O e " o ;
A
A
~ 8
o H o
o)
<
N
9] — 0
S g
Grip part made of plastic
Pyuka BbINOnHeHa U3 nnactMacchbl
e RAL (] ) A oy | = o5
103.9016.38.45 9016 50/7,5kg 50 38 mm M5 x 40 x8, 45°




